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company has paid its taxes in full for the current year, and each uses the same method
for figuring income taxes as for financial reporting. Identify which company will report
the greater amount for each of the following ratios:

1. Current ratio

2. Inventory turnover
3. Profit margin

4. Return on assels

AN
If you cannot tell which company will report the greater amount, explain why. (4 A )
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Willis Rowe is considering an investment in the common stock of a chain of retail de-
partment stores. He has narrowed his choice to two retail companies, Allison Corpora-
tion and Marker Corporation, whose income statements and balance sheets follow.

Allison Marker

A ) Corporation Corporation
Sales $25,120,000 $50,420,000
Cost of Goods Sold 12,284,000 29,668,000
Gross Margin from Sales $12,836,000 $20,752,000
Operating Expenses
Sales Expense $ 9,645,200 $14,216,400
Administrative Expense 1,972,000 4,868,000
Interest Expense 388,000 456,000
Income Taxes Expense ___ 400,000 ___ 600,000
Total Operating Expenses $12,405,200 $20,140,400
Net Income $ 430,800 $ 611,600
Allison Marker
Corporation Corporation
Assels

Cash $ 160,000 $§ 384,800
Marketable Securities (at cost) 406,800 169,200
Accounts Receivable (net) 1,105,600 1,970,800
Inventory 1,259,600 2,506,800
Prepaid Expenses : 108,800 228,000
Property, Plant, and Equipment (net) 5,827,200 13,104,000
Intangibles and Other Assets 1,106,400 289,600
Total Assets $9,974,400 $18,653,200

Liabilities and Stockholders’ Equity

Accounts Payable $ 688,000 $ 1,145,200
Notes Payable 300,000 . 800,000
Accrued Liabilities : 100,400 146,800
Bonds Payable 4,000,000 4,000,000
Common Stock—$20 par value 2,000,000 1,200,000

Paid-in Capital in Excess of Par
Value, Conmunon 1,219,600 7,137,200
Retained Earnings 1,666,400 4,224,000
Total Liabilities and Stockholders’ Equity $9.974,400 $18,653,200
——

During the year, Aison Corporation paid a total of $100,000 in dividends. The mar-
ket price per share of its stock is currently $60. In comparison, Marker Corporation paid
a total of $228,000 in dividends, and the current market price of its stock is $76 per
share. An investment service has indicated that the beta associated with Allison’s stock
is 1.20, while that associated with Macker’s stock is .95. Information for prior years is
not readily available. Assume that all notes payable are current liabilities and all bonds
payable are long-term liabilities.

Conduct a comprehensive ratio analysis for each company using the available informa-
tion and compare the results. o)

How could the analysis be improved if prior years’ information were available?
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